Lecture 24

Exercise 1: Why can't the speech and video stream be trans-
mitted using only UDP? Why might we want to avoid transmit-
ting them over TCP?
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Exercise 2. How many bytes of header overhead are added
to each packet assuming the smallest possible IP, UDP and RTP \'\"= 2o Lv\e__s
headers? If 64 kb/s PCM is being transmitted in 20 ms frames, >
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Exercise 3: Assuming the minimum header lengths, which
has less overhead, TCP or RTP?
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Exercise 4: Ifthe samplerateis 8 kHzand each sampleis quan-
tized with 8 bits, what is the bit rate in each direction?
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Exercise 5: What is the maximum bandwidth and the bit rate
if the sampling rate is 16 kHz and there are 10 bits per sample?
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Exercise 6: Why can't trunks be bidirectional?
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Exercise 7: Which customer-facing interfaces provide which
of the three services?
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